Version: 1.0
Total 20 Pages (Cover page included)




ervice

Guide

SW 5.1 Home Theater

Revision History

Version Date

Changes

1.0 Official Release

Version:

1.0

Page 1/20




ervice

SW 5.1 Home Theater

Table of Contents

REVISION HISTOTYuuuecneuerevnuviessrnrioscnniesssseiossssisssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssses 1
TADIE Of CONMLONLS...uuuevneneeiosuerinsaniosssariossssresssasiossssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss 2
11N 17 N 3
Conventions Used in this GUIde.........cocoueiiiiiiiiiiiiieiie e 3

Safety PreCaUutiONS........c.civiiieeiieeiie e eeseaeenneeens 3

Chapter 1. How to Handle Defective REIUFNS.........ueueeeosueresssasiosssasisssssessssssssssssssssssssssnns 4
Lo1 OVRIVIEW. ..ttt ettt et et ettt et e it et eat e e eateenneeens 4

1.2 PTODICIMS. ..o ettt e 5

1.2.1 No Sound and Power LED (indicator) Unlight...........c.c.cceevruirnnnen. 6

1.2.2 System can not Turn on when in Stand by Mode...........cccccuevnennnen. 7

1.2.3  Power LED (indicator) Unlight...........cccccoeiiiiiiiiniiiiiiiieeieeeeen 7

1.2.4 Press SW1-SW4, their Relative LEDs (indicator) unlight................ 8

1.2.5 Each Channel No Sound..........cccccooiiriiniiniiniiiiiiciiccececee 8

1.2.6  One or More Channels No Sound..........cccccoeceeviiniinieniieniicnienenne, 9

1.2.7 Remote Control does not Work..........c.cccooviiiiiiiiiiiniiiiiciiceieee, 9

Chapter 2.
Chapter 3.
Chapter 4.
Chapter 5.
Chapter 6.
Chapter 7.

1.2.8 Mater Volume Knob does not Rotate when Press the Volume Up or

Down Button on the Remote Control...........c.ccceeviieniiniiinieeee. 10
SPCCIfICALIONS.aueenanerennnneiosnarnnsnnrnsssserssssssissssssissssssssssnsssssssssssssssssssssssssssssssssns 11
BIOCK DiQ@UAML....ucuuuennnnnnnnvieosnnavnnicssssnnsissssssssssicsssssssssssssssssssssssssssssssssssssssss 12
EXPLOACA VieWuaaaoooneuneeriioissunniiossssunniscsssssnsiessssssssssssssssssssssssssssssssssssssssssssssnes 13
) o Y 14
SCHEMALIC DIAGIAM...cuuuenneneeioeneiisssnniosssariosssrisssssssssssssssssssssssssssssssssssssssssssnss 16
THIPOTEANL INOLES.cuveneneeeosveronssasiosssasiossssssssssssossasssssssssssssssssssssssssssssssssssssssassss 19
7.1 Packing Requirement for Sending the PCB Assembly by Post.................. 19
7.2 Short of Spare Parts while Repairing a Speaker System...........cccccceeee.e. 19

Version: 1.0 Page 2/20



ervice SW 5.1 Home Theater

Guide

Getting Started

Conventions Used in this Guide

Pay Special Attention: Instructions that are important to
\ Attention remember and may prevent mistakes.

@ Caution: Information that, if not followed, may result in
damage to the product.

Safety Precautions

The following precautions should be observed in handling the speaker described in
this guide:

Place the speakers on a flat, level and stable surface.

Do not place the speakers in environments subject to mist, smoke, vibration, excessive
dust, salty or greasy air, or other corrosive gases and fumes.

Do not drop or jolt the speakers.

Do not allow anything to drop into the subwoofer case through its ventilator, as it could
result in fatal electric shock or fire.

Place the unit far enough from other equipments for good heat dissipation.

Disconnect the AC power cord from the AC outlet before performing any maintenance
on the speakers.

Do not perform any maintenance with wet hand.

Prevent foreign substances, such as water, other liquids or chemicals, from entering the
speakers while performing maintenance procedures on the speakers.

Version: 1.0 Page 3/20




S ervice

Guide

SW 5.1 Home Theater

Chapter 1. How to Handle Defective Returns

1.1 Overview

Receiving Defective
Speakers
from Customers

Verifying problems &
proceeding necessary tests

Functioning NG

Analyzing possible
malfunction causes

:

Deciding & proceeding
the rectification methods

v

Replacing necessary
defective parts

Functioning NG

Proceeding tests
to verify if the speaker is
functioning normally

Functioning OK

Return the speakers with
proper repackaging to customers

Functioning OK

Version: 1.0 Page 4/20




S‘ervice SW 5.1 Home Theater

|Guide

1.2 Problems

Item Problem Descriptions

1.2.1 No sound and power LED (indicator) unlight

1.2.2 System can not turn on when in stand by mode

1.2.3 Power LED (indicator) unlight

1.2.4 Press SW1-SW4, their relative LEDs (indicator) unlight

1.2.5 Each channel no sound

1.2.6 One or more channels no sound

1.2.7 Remote control does not work

1.2.8 Master volume knob does not rotate when press the volume up

or down button on the remote control

Version: 1.0 Page 5/20



S‘ervice SW 5.1 Home Theater

|uide

Attention

Please follow the numbered sequence marked withing parenthesis given in individual
flow chart, in that this is the best-recommended sequence to rectify the problems.

1.2.1 No sound and power LED (indicator) unlight

Problem No sound and power
LED (indicator) unlight

A 4 l
Analyze and Fuse is burnt Defective connection of
Identify the secondary wire of transformer
Causes and wafer JP4, JP5

' ' l
Solutions Replace defective fuse Solder wafer(s) Make the connection of

housing and wafer correctly
or replace defective one(s)

Version: 1.0 Page 6/20



S‘ervice SW 5.1 Home Theater

|Guide

1.2.2 System can not turn on when in stand by mode

Problem System can not turn on
when in stand by mode

l l

Analyze and| | Defective transistor IC10(TC4013BP) Defective connection
Identify the Q5(2SA966) works unnormally of wafer JP1, JP22 and
Causes relative housing(s)
Solutions Check and make || Replace the || Check the voltage Reconnect or
sure the pins defective Q5| | and peripheral replace defective
of Q5 are circuit of IC10 housing(s)
soldered rightly and replace
defective
component(s)

1.2.3 Power LED (indicator) unlight

Problem Power LED (indicator) unlight
Analyze and Housing connected with
Identify the wafer JP14 disconnect
Causes from PCB or wafer
Solutions Solder or replace the housing

Version: 1.0 Page 7/20



S‘ervice SW 5.1 Home Theater

|Guide

1.2.4 Press SW1-SW4, their relative LEDs (indicator) unlight

Problem Press SW1-SW4, their relative
LEDs (indicator) unlight

Analyze and

Identify the Defective switch Defective connection of

C wafer JP15, JP17 and
auses relative housing(s)
Solutions Replace the defective switch(s) Reconnect or replace housing(s)

1.2.5 Each channel no sound

Problem Each channel no sound

Analyze and l i

Identify the The input audio mode does Mute LED(indicator) lights
Causes not compatible with the and the mute function turns on
specified function i
i Press the mute button on the remote
Solutions Reinsert audio input cable into control or rotate the master volume
its right socket, or choose the knob on subwoofer to turn off the
right switch among SW1-SW2 mute function

Version: 1.0 Page 8/20




S‘ervice SW 5.1 Home Theater

|Guide

1.2.6 One or more channels no sound

Problem One or more channels no sound
Analyze and|| No input Speaker cable(s) Defective connection Defective power
Identify the audio signal | | between subwoofer | | of wafer JP7, JP9, JP11,| | amplifier IC11
Causes and satellite(s) is/ || JP12, JP25, JP26 and (PT2249A)
are disconnected || relative housing(s)
' Check and Make right Reconnect orr Check and
Solutions ensure input connection of replace defective replace
audio normal subwoofer and housing(s) defective IC
satellites with
speaker cables

1.2.7 Remote control does not work

Problem Remote control does not work
Defective | | Defective| |Distance between Emitter of | [IC11(PT2249A)
Analyze and || connection| | batteries subwoofer and | |remote control works
Identify the of the remote control doesn't face unnormally
Causes batteries is too far the sensor
l i of subwoofer
Solutions Reconnect|| Replace Operate remote Check IC11 and
batteries || batteries control by the its peripheral
right way circuit and
replace defective
component

Version: 1.0 Page 9/20



S‘ervice SW 5.1 Home Theater

|Guide

1.2.8 Master volume knob does not rotate when press the volume up or down
button on the remote control

Problem
oble Master volume knob does not rotate

Analyze and l l

Identify the Knob is locked mechanically Motor of the knob is defective

Causes

Solutions Check if the knob is locked Check and replace defective
by lead or other things knob VR4

Version: 1.0 Page 10/20



ervice SW 5.1 Home Theater

Chapter 2. Specifications

NO. DESCRIPTION UNIT NOMINAL LIMIT
1 INPUT SENSITIVITY AT 10%
SUBWOOFER mV 60+/-50
CENTER mV 300+/-100
FRONT mV 300+/-100
REAR mV 300+/-100
2 DISTORTION AT 1 KHz % 0.5
AT 100 Hz % 0.5
3 OUTPUT POWER AT 10% DISTORTION
SUBWOOFER W 45
CENTER W 15
FRONT W 15
REAR W 15
4 S/NRATIO
SUBWOOFER dB 40
CENTER dB 50
FRONT dB 50
REAR dB 50
5 CHANNEL SEPARATION dB
6 FREQUENCY RESPONSE
(DOWN 3dB) SUBWOOFER Hz 30~150
CENTER Hz 20~55K
FRONT Hz 20~55K
REAR Hz 20~55K
7 HUM LEVEL (AT VOL. MIN.)
SUBWOOFER mV 8
CENTER mv 2
FRONT mV 2
REAR mV 2
HUM LEVEL (AT VOL. MAX.)
SUBWOOFER mV 30
CENTER mV 3
FRONT mV 3
REAR mV 3
8 OPERATING VOLTAGE MAX.255 VAC
MIN.205 VAC

TEST CONDITION:
1) LOAD: CENTER 4 Q, SUBWOOFER / FRONT / REAR 8 Q
2) RATED POWER: 500 mV (SATELLITE)
5.0 mV (SUBWOOFER)
VOLUME AT MAX.

Version: 1.0 Page 11/20




SW 5.1 Home Theater

Chapter 3. Block Diagram

S ervice

1041NOD

TOYLNOO
VNNV
1IN0YI0 T
LN
NEVNELEN
NIOV —»| 431714 |—»| A8 aNVLS
A
« <« 70n u300m < 1IN0YID TO¥LNOD
HO-aNS
< X |e—{IOA ¥3LINIO
HO-¥3INIO| W
L
-
o nlU_ v v
> = < x|
o) w ans
> 2 sns| |, c | «
—
< O | wanao| 9 |, Lo | JH3NEO o
«—— S e ° 2 1 O
HO-¥Y | § S L 1 X | > | =
- - L
| O ? W B |2 W3
«— < < = | <
Howus | @ 44 | = z | o4
y < 73 < o 7
HO-14

J1O0N3H

NI
AL dAd/adA/dd

NI €-0V

Page 12/20

1.0

Version:




SW 5.1 Home Theater

Chapter 4. Exploded View

S ervice

Page 13/20

1.0

Version:




ervice

SW 5.1 Home Theater

Chapter 5. Part List

Ref. No. Description Mfr's Part No.
1 Front Panel, DHT-510, For Remote Control, Black, Genius logo T13654
2 Button, Silver B, 4-Key T13344
3 Spring Coil, DHT-510, SP(+)(-), 6® T73051
4 Battery, AAA Type T73092
5 Remote Control PCB Assembly, 94HB, 36x49mm, Ver2.0 50091
6 Rear Cover, For Remote Control T13561
7 Screw, PA2.3x8mm, White 71007
8 Plastic Plate, For Battery Compartment, Black T13346
9 Fabric Front, For Center, Black(Jy-3A-05) T13401
10 Screw, Ta3.0x10mm, Black 71026
11 Screw, BA3.5x16mm, Black 71045
12 Speaker, 4", 82, 12-25W, Magnetically Shielded T20210
13 Speaker. 0.5", 8Q, 12-25W, Magnetically Shielded T20222
14 Wooden Case, For Center, Surface Pattern: F-153-1 TC0044
15 Spring Tag, YLT-02A05-02B, Red-Black T56434
16 Speaker Cable, 2m, Plug to Plug, AWG22#, Black T42129
17 Knob, 12dx16@x18mm, Silver B T80149
18 Knob, Silver B 780193
19 Button, Silver B T13384
20 Mute Control PCB Assembly, DHT-510/9, 94V0, 28x12mm, Ver1.0 T50883
21 Screw, BTB3.0x8mm, Black 171013
22 Screw, PWA3.0x8mm T71027
23 Control PCB Assembly, DHT-510/4, 94V0, 110x97mm, Ver1.0 50107
24 Screw, BH3.0x10mm, Black 71042
25 Screw, Tm3.0x18mm, Black T71151
26 Audio Input PCB Assembly, DHT-510/1, 94V0, 117.5x44.58mm, Ver1.0 150821
27 Screw, PA3.0x12mm, Black 71021
28 Strain Relief Bushing, SB4F-2K, Black 80002
29 Fuse Holder, R3-11, Black T57014
30 SwitchRA12KKAWOF, Black 156417
31 Power Amplifier & Power Supply PCB Assembly, DHT-510/5, 94V0, 161.2x90mm, Ver4.0 50332
32 Power Amplifier & Power Supply PCB Assembly, DHT-510/6, 94V0, 161.2x90mm, Ver2.0 50152
33 Heat Sink, DHT-510, 173x130x38 172220
34 Screw, BH3.0x10mm, Black 71042
35 Screw, KA3.0x20mm, Black 171152
36 Button, 8®x9dx15mm, Silver B T11810
37 Front Panel, DHT-510, Black, Genius logo T14149
38 Control PCB Assembly, DHT-510/3, 94V0, 111x109mm, Ver1.0 50106
39 Rubber Foot Washer, ®23x13, Black 186184
40 ScrewTA3.5x14mm, Black T71034
41 Wooden Case, For Subwoofer, 220x380x300, F-153-1 TC0062
42 Nut Washer, 3 71050
43 Transformer, 230V, 28VCT/2.4A&12V/1A&40VCT/1.2A, CTP-10311U-2 131527
44 Speaker, Sub, 6.5", 8Q2, 100W, Magnetically Shielded T20231
45 Airproof Cover, DHT-510, 127x127x34, Black T13468

Version: 1.0 Page 14/20




S‘ervice SW 5.1 Home Theater

Ref. No. Description Mfr's Part No.
46 Screw, PTB3.0x16mm, Black 171024
47 Audio Output PCB Assembly, DHT-510/2, 94V0, 102.7x50.9mm, Ver1.0 T50822
48 Iron Plate, For Subwoofer, 201x361x2 172214
49 AC Power Cord, 6', Black, VDE, HO5VVH2-F T40170
50 Fabric Front, For Front, Black JY-3A-05 T13400
51 Wooden Case, For Front, Surface Pattern: F-153-1 TC043
52 Speaker Cable, 3m, Plug to Plug, AWG22#, Black T42130
53 Fabric Front, For Cover, Black JY-3A-05 T13402
54 Speaker, 3", 8, 12-25W, w/o Magnetically Shielded T20209
55 Wooden Case, For Rear, Surface Pattern: F-153-1 TC0045
56 Hanger, Thickness=1mm, Black T73053
57 Screw, PA3.0x12mm, Black 71021
58 Speaker Cable, 8m, Plug to Plug, AWG22#, Black T42131

Version: 1.0 Page 15/20



SW 5.1 Home Theater

Chapter 6. Schematic Diagram

S ervice

"(4n, 01=d)
.4n, Ul pajesipul aJe sanjeA aosueyioeded ||y 2
(U,01=N T, 0L=Y)
,O. Ul pajeoipul ale sanjeA aouelsisal ||V 'L
:SOJON

o
106y T B
WS
SrLvNL ENS
\—/ o—t o— |
ﬁozmm z0s0 T T
Z0s|
TMS zms
FEFERERE
s <X *T°d =23
-
58 L 1
¥% & i
2x x x x x 5 = 2 a
Ex x5 =3 23%13%
T+ N H; ﬂs T T
RW 3654850
 Mmoo-T04 e
Slg ¥0101/3AN10A
S £ g alo E
N ¥ 5v63 3k 3k
ST 90 < &
2
i ~ dn-10A
e I
g S SYLINL
“T 2= Sle 22 _2on Jim-or CJ |
B o |a 23883 120
< |o o -
8YIYNY
ﬁr m 3 031-31nm-01 <} 5 K
LUz
word = arivNy
1002352 a 140 zcwxmgcu\SAU|_“
00 | a2 9 / 7
N T NE
8029v8 N Dm NMOO-10A 2YIYNI o
2o
dn-10A
=32 20
sE 8YIYNI
- (34
ot H
5¥60 =
[ e 1 & (g
zoiy
v8) 2
N
I
e
S| g e vdS B
> (2 g
oy 3 2 W o 14 MS €ds v | w o
2233 s |8 «S 8 90 == 219
2 2R £ zds | | . g1
T fo 2|° 1as M : 3
+ ~
vl €02 —Tof T .8 2
_ 2
c0T8L AN 200 i L =32
%se Zi] d8C10¥31
aaa o - o
g S5 1
g 2 B > 2YLINL
S |e Thl) 4 o . o
213 v6v2Z1d 600, 4
+ 3 ! =
G T s A0s /00
™
001
Crig

Page 16/20

1.0

Version




< "(4n, 01=d)
D .4N,, Ul pajeoIpul aJe sanjeA soueloeded ||y 2
S (©5,0L=IN ‘O ,0L=Y)
= O, Ul PaJESIPUI S4B SON[BA 9OUEB)SISal IV * |
) :SOJON
s
T
= - 228 223¢g 32
PN i N OHm . o R w
N m%%%%ﬁz;u SN
“ LEEPEED
Al
7\</NN|V,H
\\\\\\\\\\\\\\\\\\\ aa
| o \/>>2x:
|
20+ ” 9Ly 61813 5
! 0z0 K \/\/\/\EvfW
, " " T)\/\/\N:.w
Cews " T o
ne'z £aa 4” | E w J % s %Ei
vy N | . m | L @ i
& 9077 " |
N ; I
Iy A\N Ll gven ” o
N4 son ” £2a | a i M
DY [ , o) 6
1y RSN [ ” s
|
L1y I 8IvNI | | aAQ
rs+ [ + ” ! za 37 8\8\\,
8010 " ,F \\\\\\\ \" IF_P: S) o

El4E]
xx=
Lvn

|
I
|
|
|
|
I
I
|
I
|
|
= ,
2] | i N
\\\\\\\ MS
. I 1zd ! ) %zz
oo | He I
N3D
| | I 0
om | = 9013 1 TMS | T b g1y °
D " & - 1 %z = o 5% o 5 o M
()
! ‘ +. , : M L =19 L
! ]
11y ION3D
(P] | 01 ! £
© puy | i 3 "
| ! 0sTg ) 3
e < L ___ a
M
c m 7o ﬂxmj
LI (<P]
> = y
A LI
i & Bzt °

Page 17/20

1.0

Version:




SW 5.1 Home Theater

S‘ervice

uide

Schematic Diagram

(4, 01=d)
.4n, Ul pajesipul aJe sanjeA aosueyioeded ||y 2
(65,0L=N T 0L=)
.O. Ul pajedlpul ale sanjeA aosuelsisal ||V "L
:SOJON

52 1 v
600
o F

AST7M00LY

A3L/N000L
8v2

A9L/N0001
Tl Lo | 120 Tndzoosy
i3 |_|n.um Lo

s

= ._. A0L/n000L ] _ R, 104 oV
T . ” te] 3 nanocy I AS2/n00001
7T
Aqe/o0 iey n 14 59 VO vor | Ase/nocy
n_.s_ 2u4_\ % N05/00r0 999 P 4% sou N05/n1-0 uz u4—\ .u_.aﬂ Su._u & [(5) do ]
1o T 99, e 599 53] R (4§ FT sowrl_ L TNzl Psafro o S
= _ 3 Jos v
- - - E - oo ASZ/n0L >m«\e..mw_ a“_x
3 agssy iy
S _ oo e > ! - ) poss _ > i€ < ni/8ns
R PNA -
| o 0s¥ |A—/_ vy <_:. MR | ‘ M 2
wits | [0 3 9 I ] .5 L T inan
9dS. ~ 32-: ‘ 24 Y50 = ¥3IN3INENS
2y nze
; g, S
i
L €9  aa—
<] ong
El ~] W Yoce S
2 A0S/NZzd0 TuA AT
962Lv0L £y 15
N 1y
) g 3 S 5L
BERL, o T
rﬂ‘ﬂ?e =
‘1 asz/nor| 294
+( <] NI/N3D
i T HE e
ND-d OND-S  130'@D ] /s
o 8 ¢
i N.m :
’ 1no w e 0= s
[ ™ gh o - weS G-
s sS4 WS Ly Asz/no >
< o [1%°] "y \_ ¢ =
s oz Am "o T[Tz 1V O ORSE . 1naw ¥v3y
™ 390188 [N -] 01dS. \ [:ETY 0y
Y| iho 09€LvOL 3
" o &L Wy v
._| mm_ﬂn v692L¥0L e
’ 81 z1n0 s e 1 3
.
WHO 8 O (= 3o 155S N.anu
8¢5 6ds L | @ -
29A A8-ONVIS S
6 uw a ASZ001 | 0L
%058
204+ JP¥A .r“wmw v <J N/
[
ASZ/N0L %0
X i AG ¥ 2y
e -4 n.u_.._. m_ow._. 058 S [AEROY < Ni/83
> I0A- 7
Fo M _UJl_s - 8vuA I a[2
..... L8y Lyy 7 >
82y, A5 \_ ﬂ xmm _mmnu
WHO = RS Py 1l m ||_|
s vds g 38 2 33
H ¥/ =2 *§
= 3T= A\ 9y
2 NHO 53 W
£ds ASZ/T00 oy <3 g
31
p:
nHo
:mn_H_. - L] o s
ﬁ v s it | ms it
inHo g 3le <
1as 200+ [ =
031-3100 Asz/not
2054 £y \._\_4 asz/nof 4o
VoNA rl] T ”. Exy. ) N
on SN ¢

Page 18/20

. 1.0

Version



ervice

SW 5.1 Home Theater

Chapter 7. Important Notes

7.1 Packing requirement for sending the PCB assembly by post

PCB assembly is a kind of sophisticated electronic circuit board. Well packing
will be required when sending them by post.

* Some sophisticated IC components are mounted on the PCB assembly, hence
it is necessary to pack each PCB assembly with a separate static protecting bag,
in order to avoid static electricity.

* Reliable external packing is also very important when sending the PCB assembly
by post, in that it would avoid unnecessarily lost or damage.

7.2 Short of spare parts while repairing a speaker system

If you are short of spare parts when you have some speaker systems waiting to
be repaired, it would be recommended to take the necessary parts from one
speaker system, so that you may have the as many speaker systems

Version: 1.0 Page 19/20




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	KYE-DHT510-P10.pdf
	Page 10




